Multiplicar Enteros (A)

Emplee una estrategia de enteros para encontrar cada respuesta.

(-13) x (-27) = 8x8= (-44) x 26 =
(-34) x 41 = 48 x 17 = (-25) x 31 =
(-5) x (-12) = (-4) x (-30) = 45 x 46 =
32x19 = 30 x 4 = 48 x 3 =
(-39) x (-5) = 3x39= (-46) x (-22) =
16 x (-18) = (-25) x 50 = (-43) x (-24) =
(-8) x (-41) = 4 x (-40) = 4 x 49 =

(-42) x 29 = (-14) x 50 = (-29) x (-36) =
1x (-20) = 36 x (-5) = (-42) x (-44) =
3x(-8)= 49 x (-1) = 45 x (-30) =
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Multiplicar Enteros (A) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

(-13) x (-27) =
=351

(-34) x 41 =
= (-1394)

(-5) x (-12) =
=60

32x19=
=608

(-39) x (-5) =
=195

16 x (-18) =
= (-288)

(-8) x (-41) =
=328

(-42) x 29 =
= (-1218)

1 X (-20) =
= (-20)

3x(-8)=
= (-24)

8x8=
= 64

48 x 17 =
=816

(-4) x (-30) =
=120

30x4=
=120

3x39=
=117

(-25) x 50 =
= (-1250)

4 x (-40) =
= (-160)

(-14) x 50 =
= (-700)

36 x (-5) =
= (-180)

49 x (-1) =
= (-49)

(-44) x 26 =
= (-1144)

(-25) x 31 =
= (-775)

45 x 46 =
=2070

48 x 3 =
=144

(-46) x (-22) =
= 1012

(-43) x (-24) =
= 1032

4 x 49 =
=196

(-29) x (-36) =
= 1044

(-42) x (-44) =
= 1848

45 x (-30) =
=(-1350)
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